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1. Answer all guestions.

Z. All questions carry equal marks.

3. Only one answer is ta be given for each question;

4. If more than ene answers are marked, it would be treated as wrong answer.

5. Each question has four alternative responses marked serially as 1, 2, 3, 4. You have to darken only one circe or
bubbie Indicating the correct answer on the Answer Sheet using BLUE BALL POINT PEN.

6. 1/3 part of the mark(s) of each question will be deducted for each wrong answer. {4 wrong answer means
an incorrect answer or more than one answers for any question. Leaving all the refevant circles or bubbies of any
question blank will not be considered as wrong answer}

7. The candidate should ensure that Series Code of the Question Paper Booklet and Answer Sheet must be same ofter
apening the envelopes, In case they are different, a candidate must obtain another Question Paper of the seme series,
Candidate himself shall be responsible for ensuring this.

8. Mobile Phone or any other electronic gadget in the examination hall is strictly prohibited A candidate found with
any of such objectionable material with him/her will be strictly dealt as per rules.

9. Please correcily fill yaur Roll Number in OM.R Sheet. 5 marks will be deducted for filling wrong or incomplete Roll
Number.

19, If there is any sort of embiguity /mistake either of printing or factual nature then out of Hindi and English Version
of the question, the English Version will be treated as standard
Warning : If a candidate is found copying or if any unauthorised material is found in his/her possession, F1.R would

be lodged against him/her in the Police Station and he/she would liable to be prosecuted under Section 3
of the R.RE. (Prévention of Unfairmeans} Act, 1992, Commission may also debar him/her permanently
Jrom all future examinations of the Commission.
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1  Two finite sets have 'm' and 'n' elements. The total number of subsets of -
the first set is 56 more than the total number of subsets of the second
set, the values of 'm' and ‘%' are

(1) m=7T,n=6 2) m=6n=3

(3) m=5n=1 4 m=8n=7

2 TRt wg=gE § ' oR W oEwg ¥ | UUW WY & $9 Seggedl
W eu (g 9gem & Ha Suayeadl [ e ¥ 56 k@ ¥,
qar 'w F UM E -

(1) m=T,n=06 2) m=_6,n=3

(3) m=5n=1 49 m=8n=7

2 For a real numbers x' and ' if xRy & x—y+ V2 is an irrational number,
then the relation R is : ' |
(1) only reflexive (2) only symmetric
(3) only transitive (4) equivalence

qrafe deme v am Y ¥ fe Al xRy o x—y+ 42 e ool
don ¥, @ wEH R ¥

(1) %9 ©gE (2) ¥aw TwE
(3) HaAw GHHE | (4) g |
3 If f(x)=:;i§, x?ﬁ% then
W A=) @ ()=
® r@=-sx) @ x)=s)
| 3x4+2 3
afy f(x)=5x_3, x?&g a
1
W S ()= () @ (fof )(x)=-x
G (x)==1(x) @ Hx)=1(x)
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74 1 tim [HHMJ T=d, then (x)=

x—0 x
1) 2x 2y 4x
(3) 2x2 (4 452

aRk  lim l:1+x+£-(—ﬂ}%=e3 @ .f(x)=. | '

x—0 X |
(1 2x (2) —4x f
(3)  2x? (4) _4x2

ax’ —br+2, if x<3 .
5 If f(x)= is differentiable everywhere, then P
b2 -3, if x23 5

| _[_:._,

(a.6)= !
FE e R :

1) 1177 117 @ 1177 117 |
(_21 _ﬂ] (_ﬂ _2_5_)

) 117 117 O 1177 117

2
afy f(x):{ax -bx+2, IR x<3 & W N
%3 wf x>3

(ab) =
(-5 2 Ey
O "7 117 @ 7 "1
(5 %) (5 )
® (n7 "7 @ "1 7
#WoiResuLTE
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sin3x+ Asin2x+ Bsinx ) .
6 If f(x)= 3 , x# 0 is continuous at x =0, then

X

the values of 4, B and f(0) are respectively :

(1) 4, -5 and -1 2) 2, -3 and -1 -

G) 3, -2 and 1 @ -4, 5and1 (
ay it .

af f(x)=sm x+ sm5 x+Bsmx’ x#0, x=0 wT gaq ¥ & 4, (I

X

B gt f(0) ¥ wwyw: WA ¥ :
(1) 4, -5 7 -1 @ 2, -3 @@ -1

(3) 3, =2 @ 1 @ 4,571

7  The function f(x)=a0 +a1|x|+a2|x|2+a3|x|3 is differentiable at
x=0 |

(1) ifboth @ =0 and a3 =0

2 if gq=0

(3) for any value of ay, a, ay, a4

@) for no.value of &y, ay, ay, a5

T f(x)=“0+“1|x|+“2|x|2+a3|x|3= x=0 T SE@er ¥ :
(1) 3 A 4 =0 a§=0 L

(2) 3E a=0 %

G) apapayay ¥ Bl K W ¥ R ¥ o

@ aya,a,0 & G G 9w F g & Y
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Zz

If z is a complex number and =a,a>2, then the greatest and

least value of |z| are respectively :

a+1}a2—4 and —a+1}a2+4
2 2 _

M

@ Va4 g a-Na’o4
2 2

3) a+Va®+4 and ~a+Va* +4
2 2

4) ‘Ja2+4 and 4a2—4

. I 1 |
aR z T WhAA TN T T 2+ =a,a>2, A |z| = ke a0
<EH A HANE T
M) a+\‘a2—4 —_— —a+1}a2+4
2 2
@) a+1Ja2-—4 — a~\!a2-4' _
| 2 2

3) a+‘d 2+4 am_-a+\)a2+4

a
2 2
4) \Ja2+4 =l 1}a2—4.

Y
Q_’a INDIRESULTE
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x4+ iy o1
9  The argument of —#—x-iy , when , is
(D 2'5311_1% ) ﬂ—Ztan_I%
2_ .2
-1x =Y -1
3 tan : 4 2cot 17
@ w5 @ 207
X+i
2 1 i & ‘9’- >1
x—iy X _ .
- -1
(1) 2tan 1% | () m-2tan %
2_ .2
—1Xx°-y : 1
tan . (@ 2cot™ MY
ORI @ /A
10 7-24i=
(1 £(3-4i) (2) *(4+3i)
3 +£(4-3i) 4 =(3+4i)
e I e e
11  For three coplanar vectors a, b, c¢c; | a+ b b+c¢c c+a |=
e BN
() 21abc 2) abc
— -
B3 2{abc 4 o
- e e e e
I g WRY g, b,¢c T |a+b B+c ctal=
— SooP
(1) 2{abdc ' 2) abc
-5
G -2labec @ o
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B -3 A A = A A -
12 et a=i+j, b= Jj+k and ¢ are three vectors of same length and

_.}
equally inclined to each other, then the direction ratio's of vector c is

M (1,2-3) , 2 (-12,-1)
G (-1,4,-1) : @ (-101)

— AA AA -
AT GRS a =i+, b=k TN o, G TEE F a9 @R

R gH W d ek o % P o ¥ -
(1) {(12,-3) @) (-12-1)

3) (—1,4,—1)_ | @ (-1,01)

13 I 4, B, C, D are any four points in space, and

e SR GO O ’
ABXxCD + BCx AD + CAx BD| =) (area of AABC) then ) is
’ equal to . ‘
i M 4 | @ 3
' G) 2 @ 1

o 4, B, C, D wife ¥ % wx fag ¥ am

A e T =
D

=;L(f=T§Wf ABC H fI%®) @ A

ABXCD + BCx AD + CAx'}
JET ¥ |
a 4 . @ 3
(3) 2 @ 1
. - / L
CB32A] (#)piresuLTe Cona.
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14 Let f(x)=(1-x)", where n is a non-negative integer then

£0), 70, 7™9), . M0

A A TR R R T
@ 2" | @ o
®» 1 @ -l

W f(x)=(1-x)" W& 2 @ F s &, @

| £1(0) . £7(0) . £"(0) F"(0) _
f(O)_—I- i + B + B + oo, + I
1y 2" 2 0

@3 1 @ -
| 1 1 ,
15 I f(x)=x-log,|2x+1], xe[—lOO,E]H{—E}, then the function

f(x) is monotonically decreasing in the interval .........

11 S |
M (‘5:5) @) [—100’"2")

o f(x):x—loge|2x-i-.1.|, xe(-lOO,%)-—{-—%} q wE f(x)
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d(sxlogs )
da
x
M STlog, s @ a’log,a
3 x~-1
(3) xa | 4) 5X 10g5a
If xy+ x: b th -_J.).=
y @, then r

(1) (yxy +yx lOge yJ/(xyx + xy IOge x) .
2 (J’xy"l +yx10ge y)/( Dt N log, x)

3) ‘(yxy +yxlogey)/(xyx+x)’ loge x)

_{ ¥ _ |
“) (yxy +yx10ge).a.)/(,g,x 1+xy10gex)
‘qﬁ xy+yx=ab, f-ﬁ %:‘.
(1) (yxy+yxlogey)/(g,x+xyloge x)

x—1_ .y
(97127 t0g, |

g

@ (3 e yFl0g, y

1) ‘(yxy“l +y* log, y}/(xyx—l +xY log, x)

CB32 A} | | * .
[ Contd...

(:"/glNDmESULTE

YOUR SUCCESS PARTHNER

(_I.I_..,“.___..‘_ T

 oammgirniai i = ol IR



indiresult.in whatsapp - 9352018749 | ./"
(# oiResuLTe
18 i[t ( 1) - |
o ant cos X)] =
2 2
O 3 @ =
l—x2 X
3
0 Y= @ 2
2
(l—cosx)A e =
19 I - y B
(14 cosx) !
_3 11
O %(tang) A+c @) %(tan%]AH
11 _3
3) %(COS%)A+C @) %(sin-;-) A-l-c
SeCXx
(&:
20 (secx+tanx)”
1 %(secx—tapx)"+c ?) *f:;(secx+tanx)n+é
() ~%(secx—tanx_)’"'-‘+c_ 4y %(secx—tanx)_"+c
Jﬂ
(#)WoiResuLTE
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If 2x >3, then J'

90— 4x2
. 110 3"2x+c ) 11-0 3+2x+c
M 12 g€3+2x ) 12 g33—2x
3 L0 2x+3+c 4 -1—10 2x_3+c
) 12 gezx—3 “) 12 g32x+3
1 afy i I
1 | 2x >3, o 42
‘ . —1-—10 3—2x+c ’ _1_10 3+2x+c_
) 13 %30 @ 13830
: ' 3 i10 2x+3+c 4 '-1—10 2xh3+c
@) g @ 13%e33

12 “€2x-3

22 If [x] denotes the greatest integer function of x then

b b

[ (el +[ [—x]dx =

o ) o

(1 2(a-b) 2 a-b
G) 2(b-a) 4y 0

| b b
afs [x], x % Weaw [oiw & o ¥, @ [ [+ [x]dx =
a a

(1) 2(a-85) @ a-b
(3) 2(b-a) @ o

= log, x
23 jf[%#%) Pe” o=
0

D) 5_[f[£+£)loge xde  (2) e jf(~z—+%]dx
0

0
¢ x a\dx . < x a
®) ‘°ge“£f('£+¥)? @ Togs {) (:;'";]
CB32_A] ' ' 11 [ Contd...
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24 The solution of the differential equation (./ g _
Y%
2( 2\ . 3 ) A 7¢)INDIRESULTE
¥{ 2xsec”|{ y 'd—x-+y =10ge x<e¥ is

2
(1) sec’ y2 = (loge x) +c¢, where ¢ is arbitrary constant.

3.2
(2) sec”y =(Ioge x2)+c, where ¢ is arbitrary constant.

. 2 )
(3) tan y2 =(loge x) + ¢, where ¢ is arbitrary constant.

(4) None of these
T Y 2xse02( 2)d—y+ 3 | = og, | x2eV”
STTHE | Y)Y | =log,| xe HOEA L :
. . 2 N .
(1) sec3y2=(logex) +c, 9B ¢ ©W AWl & |
3.2 _

(2) secy —(logex2)+0,x_rlﬁc’{€ﬁ§ AR ¥ )

2 v
3) tany2=(logex) +c, SRl ¢ VW AT ¥ |

@ T F g T
25 What is the degree and order of the differential equation
) .
d>y A d*y . dy .
—= —3—=+5-=+4y=1 7
x> de?  dx
2
I 3,3 ) 33
3) 3,2 @) 2,3
2/
3 VA g2
d d d
smad wlew | L 3225 40 @ B qwr
x> dct  dx
coil I |
_ 2
(I 3,3 ) 3 3
(3) 3,2 4 2,3
CB32_A]
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If the solution of (4x+6y+5)dy—(3y+2x+4)dx=0 be
(h+3Y)—%10g2=%+c, then z equals to

(1) 14x+21y 2) 14x+21y+12.

(3) 14x+21y+22 4) 2x+3y

A TR (4x+6y+5)dy—(3p+2x+4)dr=0 &1 &
(2x+3y)—%logz=7—;-+c ¥, Tz AT T

1) 1l4x+21y (2) - 14x+2Iy+12

() 14x+21y+22 (@) 2x+3y

% %

cosx dx

27 It I1+cosx+sinx’then £1+cosx+sinx
1 lI 2) I
ORI @)
' T 18
——7 —_—27
® 3 @ -2
T T
af I=? cosx dx A dx _
14+ cosx+sinx’ 5 1+cosx+sinx
1 11 2y I
» | @)
r T
=T —=27
® 3 @ 3
CB32 A] | 69
| | /' LTH
/~‘/ !Npslﬁcgssgn'lufn

T e ey
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) X ' _ xeX - xzex ,
= T I(I+x2)2 * E I(1+x2J2 - f(1+x2)2 B
then 1} -2/, + 71, =
e* . e +c
(1) (_l:—x?)_ ¢ ) (1+x2)2 l
xe* 2e*
(3) (1+x2)+c @) (1+x2)+c
: ! I(sz)zdx & (sz)zd” ’ J‘(1+x2)2dx
i W -2y =
x ¢
; ) (1:x2)+c @ (1+x2) +e
xe* 2%
®) (1+x2)+c @ (1+x2)+c

29  What is the total number of ways in which a five digit number
divisible by 3 can be formed using the digits 0, 1, 2, 3,4 5
without repetition ?

(1) 216 2) 240
(3) 576 | @ 625

fémeiﬁﬁgwqf%faso,l,z,s,4,saiaﬁwwmga3%

ﬁwﬁaﬂﬁaﬁé@ﬁmﬁm%mmaﬁh%?

(1) 216 @ 240
(B) 576 @ 625
CB32 A}
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J repetition, is :
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(1) 6666 2) 66660

(G) 26664 @) 266640

& 1, 2, 3, 4'ﬁaﬂ%aﬁh4aiﬁaﬁﬁwﬁﬁiwaﬁmzhﬂ,m%aiﬁ
B TR T @, ¥

(1) 6666 (2) 66660

() 26664 ) 266640

. 31 The number of terms in the expansion of ( 2¥+3y—4z)15 , I8
\ - 1) 16 (2) 45

(3) 120 | @ 136
(254+3y—4z)'5 % Rrem & v & ded ¥

1) 16 (2) 45

G) 120 @) 136

|

3n
32 The 5% term from the end in the expansion of (x—%) in increasing

power of x, is (n is a positive integer) :

_ 3 -10
(1) 3”C5 x3n 10 (2) _ n'CS x3n

- 3 —
(3) 3”64 x3n 8 . (4) (-_1) n Bnc3n_4 x8 3n

x % aud gf aw A (5 Y (0w o s ¥) % rw
afew & S T %

M 3nC5 3n=-10 ® ._3nC5 Sn-10

6) _3nc4 x3n—8 4) (_1 )3n 3nc3n_4 x8-3n,

>
@INDIRESULTE
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33 If 4 is square matrix of order n, then |adj(adjA) |=
M Jafm) @ [afm1)
3) |A[("+1) ) 'Al(n+1)-2
a4 nw W T Ww @, @ |adj(adjd)| =
M [afn-1) | @ |afn1)?

@) |af7t) @ )

34  If the matrices 4 = [a{-}- Lx3 , B = [bf-j ]p><q , C= [Cg ]2x3 and AB=(

then (p, q)= _

(1) (2, 3) @) G, 2

() 22 ' @ G, 3)

'ﬂﬁa&ﬂ'ﬂ A=[a{';']2><3,B'—_‘[bg}pxqgc':[cg]z)(:s M AR =C
@ (pg)= |

1) (2, 3) @ G, 2

G @ 2 @ G, 3)

35 If [-] denotes the greatest integer and -1<x <0, 0<y<llgz<2,

[x]+1 [y] IZ]I

[x] [»]+1 2]

then

(x]  [¥] [z]+«1
M [x] @ [»]
3 |[z] @ [z]+1

H&[-]mﬁwpﬁmﬁem%w

[x]+1 [»]  []
[x] [y]+1 [z]
[x] Iyl [z]+1

“1Sx<0,0<y<1<2<2, df

M [x] @ [»]
(3) [z] @ [z]+1

CB32 A] 16 [ Contd...
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1 -t 1 tan®) o, b
if [ }, then
tan% 1 —tan% 1 a

(3) a=cosH, b=sind (4) a=sin0, b =cos6

| ! —tan 8/ 1t —12[(1—6], S

tan% 1 —tan% 1 b a
A a=Lb=1 2 a=1Lb=-1
(3) a=cos8,b=sin0 (4) a=sin0b=cosd

The p, g%, 7 terms of HP are o, b, ¢ respectively then

522 + c2a? + o2p2 pbc+qeca+rab be+ca+ab

2,.2,.2

be + + rab +g°+ +q+
pbe + gea + ra poHgc+r p+g+r equals to
be+ca+ ab prg+r 3

(D) (abe)? (2) (abc)

G 1 | | @ 0

a b cwum Bl v ¥ oY, ¥ A w o

8262 + 202 + a282

c“ +cat +a pbc+qca+rab bc+ca+ab

pbc + qca + rab pz+q2+r2 pPrg+r )
bc+ca+ab p+rg+r 3 ¥
(D (abc )2 @) (abc)
3B) 1 o4 0
) LTE
CB32 A] Qg INDIRESU THEE [ Contd.., |
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38 If the coordinates of two points 4 and B are respectively (¢, 0) - -
(-c,0), then the locus of g point P which moves such tli'a__
PA2 +PB% = 42 s -
(1) a parabola (2) a circle
(3) an ellipse (4) a hyperbola

aft & frgell 4 @@ B ¥ Frdvie L (,0) T (—¢,0) ¥ @ ww
frg £, W 3@ ywr afm ¢ Ry PA* + PR? = 4B%, w1 Rg v %
(1) % waey 2 & Ta

(B) T drigw | @) w s

39 A line passing through the ‘point.(z, 2) encloses an area %, with the axes,
~ The intercepts on the axes made by fhe line are given by the two roots
of equation '

M x?—[a[x+2[A|=0 @ x+[r]x+2)a|=0

() x®-2A|x+[A|=0 @ x2+2]r|x+|r|=0

@%m%@(z,zjéw%ammﬁﬁx g wieg ¥ Yar T
o TR T s R e B G g b, b

M x*-|A[x+2)2[=0 @ P+[r|x+2]r]=0

@) x*-2fAlx+|A[=0 @ x242fAx+{A[=0

40 The circles x2 4 32 +2gx+2/ =0 and x%+ )2 +28'x+2f'y=0
touches internally if :

M) f'=gg' @ f+f'=g+g
G) sg=g'f @ |f-rl=lg-g| |
qq x2+y2+2gx+2_}ﬁ.v=0 GRA x2+y2+2g'x+2f'y=0 SRR
I fr=gg | @ f+f=g+g
B flg=g'f 4) lf~f'|=lg—g'|.

CB32 A}
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the normal at the point (a, 2a) to the parabola y2 =4ax meets it again’

at (afz, 2at), then 7=

1 1 2 2
3G -2 @ 3

aft s 2 < dax % g (a,20) T T o waw @

T ( at?, 2at) P &, @ ‘= |

. M 1 @ 2

? G) -2 | @ -3

i{ 42 .If any tangent to the ellipse f;+12_ =1 intercepts equal lengths "' on
the axes, then / = | o0 |

) (a?+?) @ 2(a?+8?)
@ Va2+i? @ Wat+p?
af rfga z2—2+122-=1 5 B R sl T w1 s
®E @ L=
(1) (02+52) | @) 2(a2+62)

®)  Va®+22 . @ a2 sp?

43 If e and ¢' be the eccentricities of a hyperbola and its conjugate,

then e~2 e 2=
I 1 ' ‘ 2y -1
3 2 4 -2

TR e AR ¢ T R ok Eh Wl @ sdhwEd &
A e 2re2e

(1) 1 | @ -1
(3) 2 o 4 -2
CB32 A] o 19 = - [ Contd...
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44 The probability that a point inside the circle is nearer to the circumferehl
of the circle comperative from the cenire of the circle is : '
o Y @ )
® % @ ¥
@%wﬁwaﬁgﬁg@mﬁraﬁwﬁwa&maﬁm
B B wivws ¥ |
w Y ® Y
® % @- ¥

45 If the line ax+5y+c=0 is normal to the curve xy =1, then :
() ab=0 2) ab<o0
B) a>0,b>0 @ a<0b<0

Ak Y@ ax+by+c=0 9% xy=1 @ afae g, ?'ﬁ_ P
1) ab=o0 2) ab<o
3B a>0p>0 4 a<0,5<0
46 If the tangent to the curve f(x) = x2 at any point (c, f(c)) is parallel

to the ﬁne joining the points (a,f(a)) and (b, f(b)) on thé curve,
then a,¢, b are in : |
(1) AP : @ GP
(3) HP (4) None of these
W wm f(x)=x? & Bl Ry (c, £(c)) W e v ¢ fa
fgelt (a,/(a)) @ (5, 7(5)) = Pt =t Y % wec 3,
acb ¥ :
1N w9 ¥ : @ T3 u
3 w4 ¥ @ T ¥ A &

CB32 A] [Contd...
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If a<3cosx+4sin x—né ) < & always true for all x, then 'a' and 5" are

respectively :
1y -55 @ -%.%
@) 13,3 @ 247,247 -

ar xS ol 9= & ﬁqq as3cosk+4sin(x—%)sb I g s},
@ '@t FE P HE:

1) =55 @) —7, %

@ -3,413 @ 247,247
2 2
If y=—+ , then y is maximum at x =
X a—-xX
- | )
® = 0 —
2 2
3) ;% @) a“_ -
£ y—a—x—+a_x, W@y A ¥ S x=
a a
o = @ ——
2 2
® — (4) a“_ -
E (#moiresuLTE
i1 CB32 Al | 21 | [ Contd...
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49  The area bounded by the curve y = 2x4—x , the x-axis and the tw'q\

50

51

YOUR SUCCESS PARTHNER
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ordinates corresponding to minimal of the function is :

1 7
¢ 70 SQuare unit 2) T20 Square unit
3 : it 4 : it
(3) Sq Square uni (4) 120 Square uni

EED y=2x4—x2,x-maamaﬁ&ﬁm%ﬁiﬁwwﬁ,évﬁa@:
ATHT & -

' i 7 '

@M 75 = = - (2) Tzﬁa’fw_
1 , 1 '

3) o ol g @ 5 T

The ratio of areas between the x-axis and the curve y=cosx and

Y =co0s2x between x=0 and xz% is :

M 1:45 .(2) 1:2

3y 21 @ 31

x=0 gg x= ya;q‘a:r x_emqaaa)'y-—cosxai:'rty#cbﬂxai
é’lﬂ%%ﬁrﬁhmmgma%

M 1.5 2 12
3y 21 @ B

Three six faced fair dice are tossed together. Then the probability that
exactly two of the three numbers are same i -

w Y @ ¥,
® % @ %

YOUR SUCCESS PARTNER
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If the mean of a,b,c is M and ab+bc=—ca, then mean of

a2,b2,(;2 is
(1) M2 @ 3M?
3)- M2 @ oMm?

aft abc ® WE M A 9O ab+bc=—-ca, @ a%,b%,c% ® WA

T :
1 m? | @) 3442
Gy M2 “) oMz

53 A die is rolled so that the probability of face % is proporti_onal to k, where
k=12,3,4,56. What is the probability constant ?

5 _ @ 1 |
. 1 : -1_
(3) T @ 36

% TE A EER W T k qH @ Wi k% ey §,
e k=12,3,4,56 Wi oeds =¥ ?

1 1

R @ 11

® 3 @ 3

' ° [ Contd...
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54 Consider the following statements - Yo YoUR succEss Yl :
1. Area under a histogram gives total frequency. _ '
2. Width of the tallest vertical bar of histogram gives modal class.
Which of the above statements is/are correct ?
(1) 1 only
(2) 2 only
(3) Both 1 and 2
(4) Neither 1 nor 2
P e X RER AR I
1. omEd Rl 9 e ool arERar % osE g § oo
2. omm f % e wwafuw @y wgas| o @ ¥ oo
T H B9 oYT g9 ¥ ¢
() %aw 1 '
2) %Fawd 2
3) 1 gur 2 -
4y T4 19 2
55 If mean and median of a distribution be respectively 9 and 15, then mode
of the distribution is :
(1) 24 2) 18
3) 33 4 27 -
o el o @ e qw e B 9 @ 15 o, A w
IEE B |
(1 24 2 18
3y 33 4 27
56 1If every element of a group 'G' is its own in\}erse, then group 'G' is -
(1) abelian (2) cyclic
(3) finite (4) infinite
T N W G W VAT omEw @ w owRew W, @ e G R
1) amEedh 2) =" .||
(3) it () o< |
CB32 A) 24 [ Contd...
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57 In any group the number of improper subgroups is : }{/,’ !NPJBE§HR
M1 Q) 2 .
() 3 (4) depends on the given group
1 1 2) 2.
3) 3 (¢4) W ' a fir wE ¥
58 The set of matrices § = H * “x}, 0#xe R} forms a group under
' ' -x X
multiplication operation with identity element :
fo 1] . [ 1 -1
0 R Y @ o
- BV VA
- 1 @ /é A
G3) S N RS VAR
1 -1 -¥ Y
x =x| . |
HiepE Y= S={[ ],oqaxeR}anm@gm%ﬁmww
: -x X _
¥ P qEe oEde ¥
[0 1 1 -1
(1) 1 0 @ -1 1
i S L
-1 1 A //2
&) _ @ _1 1
2oL - i A /2’
59 IfH and.'K are nof‘mal subgroups of G then which one isjtrue ?
() H Kk and HK are normal in G.
(2) HK and HuK are normal in G.
(3) Hn~K is normal but HK is not normal.
(4) H oK is normal but HK is not normal _
IR Hoqu K € G & & qOEHE SUEqE ¥, o B9 (U6 99 § 7
() HnK @ HK, G ¥ yamma ¥ |
(2) HKFN HUK, G¥ w&md ¥ |
(3) HnK oW ¢ dfe HK wamg T8 ¥ )
(4 HuUK wamm ¥ ofes HK yamrg T8 8 |
CB32_A] 25 _[ Contd...
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60 Which of the following ring is not an integral domain ?

61

62

CB32 A]

(1) (E,+ +) where E is the set of even integers including zero. |

(2) (C,+,+) where C is the set of complex numbers.

3) ({a-H’hE, abel }, +, °) where [ is the set of whole numbers.
(4) (Q, +,+) where O is the set of rational numbers.

fer § ¥ B T e v w7

(1) (E, ++) w©l E g9 afta gaquist & @ ¥

@ (C,++) T C wins deml o aged ¥ |

( .
(3) ( a+b«/5, a,bef},+,-) st [ gl gt & egeas ¥ )
A

@ Q+-)WQuﬁﬂﬂmaﬁwagaa%:

Let G be a group of order 30. Let H and X be normal subgroups of order

G
3 and 6 respectively, then the order of the group —— TR is :

a 2 2 3
(3) S @ 10
AT G, 30 %9 &1 W% & | WA1 H 991 K %9 3 q91 6 %9 & WEHd

m{s%,iﬁa{é;—me%:

Q) 2 | 2 3
3 5 @ 10

In the field {R,®,0) where R is the set of real numbers and

a®b=a+b-1, aGb=ag+b—ab for all a,be R, then the additive
inverse and multiplication inverse of 5 are respectively :

0 41 @ -3%

® 4% @ 31

(R,®,0) &% ¥ wafs R arhm woel = wged ¥, @m
a®b=qg+b-1, aOb=a+b—ab, R ¥ GvQ Trafas v o, b &
fg, @ 5 & A9 whoew R IEeE A|E HE 8

1 41 @ -3.%

./ @ -3,1
[ Contd...
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If cancellation laws hold in finite ring R with unity and YA YoV svccrss raRTuE
VYa,be R, (ab)2 =a2b2, then R is :

(1) a field

(2) a division ring but not a field.

(3) an integral domain but not a field.
(4) a non-commutative ring without zero divisors.

o g Wid Tt aww R ¥ o Freaw feedt @ wem dar ¥ el
Va,beR,(ab)2=azbz, g R ¥ : '
(1) u& & |
(2) w frusE aeg qfe @ 8 T

(3) TH Ui W afeT OF &5 T
@) s @ v W smatmg 9ay

B
.-
'-.
o
¥
]
ol
#
o
f }
£

- e Gt

64 If 04,04, 03,.....,0%, are the roots of the equation

x4 Plxn_1 + sz""z F o, +h,_x+8b,= 0, F, # 0, then the value

LR S S
of @ 0y Oy o, is :
) _Pn—l @ Pn—l
Pn Pn
@ B ORI

R IR U SR
Ol'.'.l 052 DL3 0’." @l "M %
a - i ) i.__l
) PH P?I
(3) I n—1 4 -5 n—1
CB32 Al .é: 27 { Contd...
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65 Op transfomﬁng the equation 5¢3 .3

S X ~—=x+1=
2 4

with integraj Coeflicients ang unity for

(1) 33,2 ~3x+5=9

@) x3—-3x2-15x+200:=0
3) 33—6x2~3x+5==0 4 ~6x2~3x+40-o
Wﬂms)c3~§x2 4—3x+1=o ﬁwmmﬁwwvaamw
T T I ey 3 ST TR W o ¥
) x3-—3x2-3x+5:=0 @ x3_~—3x2-—15x+200=0
3 P_g, ~3%+5=¢ ) x3-—6x2—3x+40-0
66 The TOOts of the equation 33 ~15x~126=0, are
M 6,3+2\/3—',—3-2\/371 @) 6,3-25i _3,, 3
3) 6—-3-21/3:1,-3+21/§z @) ~6-3_5% ~3+4 2.3
wtaoy r3~15x-126—0 ¥ qw &
(1) 6342V, -3 5 f5 @ 63-25 ~34+ 2.5
B ¢ -—3-—2\/3_:,~3+21/§1 @ - 3—2@,-31;2«/3';
2,
67 It ‘g 18 the parametey then envelope of the Curve ;1-;2{-(—;2_:
is/are
(D) x=p @ y=i
(B} xp=p2 @ xxy-4g

2 2 f
L X J —_ . k
!rﬁ‘:amaa%a‘ramaz ;“h——-z‘az%mamm}q%. ;

(D) x=f 2 y=%
G ay=42 @ xz
CB32 A

Ty=%f
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(_, In general the number of points of intersection of #™ degree airve

| its 7 asymptotes will be :

W a(n-1) @ n(n+)

© ) Ot 8 ot st
g @ A 'Y AW % s

X @en 7

@ n{n-1) - @ ()
@ n{n-2) @ nn+2)

For the curve y=f(x), curvature is equal to :

o [T
o (@
o (e / - (;g)] |
o @@l

aﬁy=f(x)%ﬁfaww%:

{ ) Tz/( 1 |
o (%) / | |
o (@l )/ {”(z” |
@ (dzy/dxz)/ [”[dxﬂz
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0 IfF(u)=y (%,p.2) is the homogeneous function of degree 5 in f‘x‘___ .

du
and u, = 5; ete, then, Xu,, +yuy +zu, =

3
£y
(W

O nr F{u)
n (u) (2) nF(u)
Flu ' %
qr F(u

‘ d
)=f(xy.z), £3,z 1 n I B R B & e w, Eé—;i

9 @9, xux+_ywy+zuz=

_ F'(u)
(D nF(u) ) nF(u)
- Flu “(u

71 The maximum valye of the function sin x-sin yesin(x+p} s -

343 1
D5 @ 3
| V3 | 343
3 g 4) R
BT sinx—siny‘sin(x+y) w S wE § o
343
O % @5
V3 33
() 5 4 R
CB32 A] 30
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lxz)/
j- e/ X dxdy =
0

0
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Q) e-1 | ® )

o Y @ Y

3

| I | @
@ -1 @ 1

1 |
74 JlogT'(1-x)dx=

0 .
(1) loge -JE (2) loge T

| T
@) log,N2m @ gy

75 For every x>0, the true statement 1S :

1.1 _
(y x>fan 1x>1,+x2 @ *7% e 1
X '_1x< 1
@ *<wlE< (@ XEELTTLL
mwo%ﬁﬁ,WW%‘
-1 1
_ x >
m x > tan 1x>1+x2 (2) x>tan ~X sz
x “le< !
@ x<mTxe—tm @ ¥SEEETS
+ _
31 [Contd-..
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2.2 .3
2%x 3
76 The series x+

s ws  GmomEsuuts
4" x

is convergent, if - .

(1 0<x<% 2 “18

(3) %<x<% 6)) %<x<4e

TRy S S ¥ o
@ 0<x<}/ 2 x>1
@ Te<x<}, @ Y <x<d

77 The analytic function whose real part is ¥ o yis :

M) 2+ @) ze% 4

(1) 227 4 ¢ @) ze% 4

B) 2% 4o

@ e®+¢i

CB32 A] 32 [ Contd...
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g,

s '-'}'8 Cauchy-Riemann equations in polar form are :

NI ST T
M 3779 ™ 23~ 5
) B o
@ 5,773 ™ "=,

du 1ov 1du dv

@ T ™ T3

4 Q.E.{—_ra_v d r.a.il.—éz
@ o3 ™ TH T

T w A At e ¥

du _1dv lou  ov

O ™7 e o
@ 3573 ™ "%

du 13y 1du _ov

@ FTre ™ e o

8u___ av du oy

= —

@ "% ™ "%

79 A transformation of the type w=oz+J, where o0 and B are complex
constants, is known as a
(1) translation (2) magnification
(3) linear transformation (4) bilinear transformation
Th BUA w=o0z+8 & WOR @ ¥, WEl o @0 B ging emw ¥,
3'@[ ®E Wl |
(1) R @) omEH
G) Yew waRw @) s s
CB32 A] [Contd...
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80 Let the integral J = J ¢Z @z, then the true statement for value of J for .

81

: 8
@) cfiom z=0 to ;=] equals -

./o‘ :
Q/_‘j INDIRESULTE

YOUR SUCCESS PARTNER

5

2 il'
(1) cfiom z=0 to z=2+; equals ("3"‘*‘—3;-1-}

o | 5
(2) cfrom z=0 to ;=9 equals (3‘)

. 14
3) c from z=2 10 z=24; equals 3

3
a1 {6 geme J=fczzdz,a’rj%qﬁ%i%mwm%:

(1) e z=0 é‘."z=2'+i, ar J:(éJ’%{) |

@ "M, z=0 qz=2, J=[§J
@) WM, z=2 ¥ z=2+/, @ J=1—31i

@ W z=0F z=1, @ ng.

The solution of differential equation

sin pxcos y = coglg?x siny+p, p= % is

1) xy= sin"le | () y=xsin"le

(B) x=cy+sin e (4 y=cx~sin"le

TR Hﬁia;m_ Sin pxcosy = cos pxsiny+ p, p E% A -
(1) xy=sinl¢ o ) y =xsin"l¢

(B) x=cy+ sin~l¢ . @ y= ex—sin~le

YOUR SUCCESS PARTNER
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i fferential equation _
The particular integral of the differe;

dy .
(92—5D+6)y=5x,(DEE), is

Sx
m 5¥ log, 3 @) .Elo—é;—sn
> ® —5 %
® g

._-—--10g —_—
log, 2 e

_ 5% .
(1) 5Flog,> | 2) 'i'lg-g_;_s—

P B T
3) m 1oge;—2—-loge-‘;§'

2
x3d —x2 +2xy=1is

2
2% : (2) gxt+e* _
(1) e +oe - i
9.2 T
@) g+ ey " W2
“ Py 2 o =1 w1 T T
arEaH G X e 2
2
(1) .Glex +cze2x @ aq*T”
_ 4,2
@) qe * cze'zx @ 2
[Contl_:l...
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84 If one of the complementary function of the differential equation

2
247y (2, , \Y
xh — ( +2x)zr-+(x+2)y=x3ex is €)X, then the second

dx
one is :
x .
(D) Coe ¥ cze_x
x
(B)  cyxe (4)  coxe™

3) czxex | (4) Chxe

-. - - 2 2
85  Solution of partial differential equation x? ( i) + y2 [—:J = 72 i:
is : '
_ = ¢ COST |, Sino "/
1) z=cx y 2) z=ax+ ]—a2y+c

3) Iogezzalogex+\!l—a2y+c 4) z=a10g(%)+c

= ¢ yC0S0 _ si f
(1) z=cx ysmq (2) z=ax+ 1—-a2y+c

(3) logez=a]ogex+\h—a2y+c 4) z=alog(%)+c

YOUR SUCCESS PARTNER
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For the partial differential equation, p2 +q2 —2px—2qy+2xy=0
Charpit's auxiliary equations are ':
dp dq dc _dy
“p+y —q+x p-x q-y
dé dg  dc _ dy
p-y q-x x-p q-y
dp dq dx ay

@) Z(p+y) -(a+x) x-p -4

(1

@)

ap  _ dq dx dy
-pty —qt+x x—-p Yy—gq

S SraEd WHHEE p2 -+ g —2px-2qy+2xy =0 % T wrdicE
gead TS E

dp dq de dy
-pty -—qg+x p—x g-—y

dp _ dgq _ dx _ dy
p-y 4¢—-x x—p 4-)y
| dp _ dqg _ dx _ dy
3 B _(p+y) -(¢+x) x-p y-—q

“)

O

¢)

dp dqg dx dy
-p+y —-g+x x—-p y—dg

)

- _
87 The vector f is irrotational vector if

- : - : v
(1) grad f =0 () div f=0 |
- _
3) curl f =0 (4) None of these

Eﬁﬂ})aﬁ[}'ﬁqﬂﬁﬂ%ﬂ%

- _ -
. (1) grad f =0 () div f=0
G)  curl 7 =0 @ T A aE &

| Contd...
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88 If a is a differentiable vector point function, then div cyrl g =

..9

1) ¢ (2) grad a
—2 -
3) a 4 2a

- -
gt 4o W%_ﬁﬂ%%,ﬂdivcuﬂa=

: ' -
1 o : (2 grad a

2 -
3) a @ 24

A - A .
89 A vector field Fis given by F = (siny) i+ x(1+cosy)j then the IF-dr'

over a circular path given by 2 4 y2 = a2, z=0 is :
M) 2ma? @ ma?
1 _» 1 9
3) —ma 4) —na
® 3 @

UH wiewr &= F=(siny)/i\+x(1+cosy)? % R o fe o @

& [Fdr oA g@T v 2452202 20w ¥

W 2ma? | @
| _

@ 5’ . @ ra?
(@ NDiResuLTE
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If F is a continuously differentiable vector point function in a region v

_ _ A
enclosed by the closed surface s, then JSF -nds=

il @ [ (VxF)av @ [(VF)a
ot F el 9= T s B0 B g & v ¥ Waw sEwee wRy feg
s &, @ j'F-;:ds: . o
I . 5
M JVxF)-av @ [Fa
3) Iv(fo)dv @) _[v(V-ﬁ")dv
N ]
91 . If ¢ is the rectangle with vertices {0,0), (ﬂ 0), [ ;3] and [0’5)’ |
then _[c(e“x sin yde+e ¥ cos y dy) =
) 2(_e—“—2) | L 2(e‘“+2) -
?) 2(e‘“—1) ) 2(e"‘+1) |
]
' -qﬁ{ ¢ TUdr 3dd % ﬁﬂ'ﬂ'ai Q‘h‘f (0’0)’(15’0)’(7;’ g] GEAl [O: l;'] ﬁ', o '
Gl jc(e"xsinydx+e"xcosydy)=
M 2(8_7‘—2) - 2) 2(e‘“+2)
(3) z(e‘."—l) @ 2(e_“+1)
CB32_A] %39 - [Contd...
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92 If (11, my, ﬂl) and ( Iy, m,, 2) are direction consines of the two lmes
inclined to each other at an angle g,

then the direction cosines of the
external bisector of the angle between

the lines are : \

Wb m-m, -
2cos/ Zcos/ 2005/

2 o =
2sm/ Zsm/ ZSm/

3)

2cos/ 2cos/ 2005/

!+12 my +m, 7 +n,

Zsm/ 25111/ 2sm/
w&ﬁmﬁﬁﬁwwﬁwe%%ﬁm@m(ﬁ,
(lz,mz,nz)%ﬁaﬁm%ﬁwﬁwmmﬁm%ﬁm%:

(1)<l I Moy

ZCOS/ ZCOS/ 2(‘,05/

12 ml m2 nl
28111/ Zsm/ 2sm/

< I +32 my + m, n1+n2>

2cos/ 2cos/ 2005/

2sm/ Zsm/ 2sm/

!+! mtm, m+n,
“)
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' —
93 A straight hne y = a +Ab meets the plane ». 5 =0 at the point P.

The position vector of P is :

l
l
>
X

- a.n-b-> o —
+
.(1) a 55 2) b+ == |
b-n a-n
I el d I I e dnd BN
b-n ' a- n
3y b- =55 b 4 a- 55 b
a-n ’ b-n

- - - ~

% @l r—a+xb T r-n=0 PRg ®Bodl ¥ 1 P fag
o Rufy afty ¥ -

> 27 - N g R

M a+] 221 @ b+ 2|4
r— — -
bh-n a-n

S (72), IR s IR

O A @ a-| Z=Z |
— — : e
a-n b-n

The number of spheres of radius 7' touching the coordinate planes are :

1 2
(3) 6 4 8

@) 4

7 B T T A den @ s s @ owmst ww ®, ¥

1 2 @) 4
3@ 6 @ 8
CB32 A [ Contd...
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common circle js -

2,2
K. nr
M = @ 5
no+r H+rn
f'12+?'22 r12+r2
G 53 C)
Hor nn
T B F @ O e wy @ ey
W B
2.2
Br nr
1" 1%
= @ =73
%) +r:é2 IRED)
® 5 (4)
N nn

@

Two sphere of radii i and 75 cut orthogonally then the radius of the

INDIRESULTE

YOUR SUCCESS P.IRTNER

The equation of the right circular cylinder whose axis is z-axis, and radius

Fis :
(1) x? + y? = rz _ Q) x%472
@) y+2=,2 @ 24yl

O e S @
@moiresuLta

CB32 A 42

RS i
R NS

x2 4 y2 4 ;2

=y
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The semi vertical angle of right circular cone having a set of the three
mutually perpendicular tangent planes is :

(1) tan~ 12 2 cot™l 2
G @ %
wawqﬁua@mmﬁaﬁéaﬁwmmmmwm%%:

1) tan 12 () cot™l\2

® % - @ %

The resultant of two forces P and Q acting at an angle g is equal to

(2m+1) 1}})2 + Q2 and when they act at an angle (90~8), the resultant

is (2m~1)yP2+ 02, then tang =

2m : 2m
1 2
@ I+m2 @ l—m2
3 l—m2 4 m—1
(3) 2 | “4) il

aaﬁPamQEﬁem}wwﬁmaﬂa%,mwﬁwﬂaa
(2m+1)4P2 + 02 ¥ 7 w5 (90~0) ®w W fFeamder &

@ wReml W (2m-1)yP2+0% % @ tang=

Zm : 2m
1 2
) I-Hn2 @) 1—m2
2
1-m m-—1
3 —
¢ — @ ——

CB32A] C{’gm DIRESULITE [ Contd...
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Three forces P, () and R act along the sides BC, CA and AR of a triangly -
ABC taken in order, if their resultant passes through the orthocenter, then'--___-

(1) PcosA+QcosB+RcosC =0

(2) Pcosecd+QcosecB+ RcosecC =0
() PsecA+OsecB+ RsecC =0

4 P+Q0+R=0

W 9w P, O o R ryst ABC & S emeit BC, CA a1 AB W %HHER
ﬁwaﬁﬁ%amwuﬁmﬁﬁgﬁr%mﬁm%,ah

(1) Pcosd+QcosB+RcosC =0
(2) PcosecA+QcosecB+ ReosecC =0
(3) PsecAd+(QsecB+ RsecC =0

4 P+Q+R=0

If a body be on the point of sliding down an inclined rough plane under
its own weight, then the inclination of the plane is :

(1) equal to angle of friction
(2) greater than angle of friction
(3) less than angle of friction

(4) equal to twice the angle of fiiction

aﬁﬁémw@ﬁﬁwm%%mvm%m%m
ﬁ%aﬁaﬂwﬁﬁwﬁws’ra’rwmw%:

(1) =1 @1 & goa
(2 = B F e
() =¥v Hr § Fy

@ B ¥ gR ¥ g
44 [ Contd...
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i ;}'{ 101 If any body is constrained to turn round a point then the virtual work of

the reaction at the point is always :
(1) zero (2) positive
(3) negative (4) = constant other than zero

iy @is fvs Bl Reg & ofte: ofeem =9 & smem &, @ xR
W wislem @ o9 wivae w=6f el & o

(1) s 2) oo

B) FEUEH (4) g F A@ET IET

If a heavy string hangs over two fixed small smooth pegs such that the
two ends are free and the central portion is in the form of a catenary,
then the free ends of the string will lie :

(1) above the vertex of the catenary
(2) on the tangent at vertex of the catenary
(3) on the directrix of the catenary

(4) none of the above

I ww W s & Rax Rl dRal W39 TR Weml € 6 sww
A oY wdst ¥ qw Wem &l WO Ue ey o ey ¥ %, ar ol &
e Ty fem & |
(1) S & i F Hax

(2) S & i = wWshrar

(3) @i & fom W

@ T A Fg &

If the radial and transverse velocities of a particle are always proportional
to each other. Then its path is the curve

(1) circle (2} parabola
(3) ellipse (4) equiangular spiral
iy fedt @m ¥ ol qw Sgw AT G UH qE & SHIUEl e,
CUBCSEI I B r L I
1) 7= Q) wawd
(G) qdgw /-‘ (4) THEHNG HRIA
.
(#)WpiresuLTE
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104 With usual notations, the tangential acceleration of a moving partlcle 13;__

) oy &
()Oydt

)

Yo R A, TR @ @ weRedT o &
dv
(D ﬂﬁlﬂa

' dv
(3) %ﬁa v

dv
only Vv

(2) only —5

(4) all of the above

(2) m—-—

() st aftfq a

i

105 A particle moving with simple harmonic motion has a period T, then the
time taken to move from the position of maximum dlsplacement to one

in which the displacement is half the amplitude, is :

)

®3)

L
6

T
2

T
() 3

2
(4) gT

% g ¥ oY oW % ey Wi o ¥ wn e ¥

Q)

()

CB32 A]

o | ™3

NI

@ 3
S
#nowmesuLTs

T e At LT 3
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" 106 A particle starts from rest at inﬁnity and falls under "gravitational force-
& on the surface of the earth of radius 7, then its velocity at the earth

surface is :
ﬁi 3) Bgr @ 2z

BN Ty

aﬁ%wwwﬁmﬁmwy%mﬁwﬁﬁﬂ,
et Bt v ¥, & @@ W ARar # @ gedt e o owwer A d

® fr @ 2z

b b e

107 A particle starts from rest at a distance 'a’ from the centre of force which
attracts inversely as the distance, if 1 is proportional coeflicient, then the

time of arriving at centre is :

1) ‘2“/5 @ e

n n
€)) “Vou | @ “V3u

U6 W W b ¥ ‘@' gl W Rea el R R @ s
T S B g & Joragu ¥, é\sani’mnﬁrrrrmm% ufc’tu
miwrﬁlﬁwﬁ?ﬁ%aamqgaﬁmw%

n 2 2 a.l=
QR @ e
3y al-=— @ alX
3) 20 . @ 30
CB32 A] C:?/_‘j m ps| RES ULTE [ Contd...
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108 The teﬁsion in the elastic string is - '
(1) proportional to length of string,
(2) proportional to increase in length of string.
(3) proportional to increase in unit length of string,
4 proporfional to square of increase in length of string.
ARy sl ¥ qme
(1) wo = & Tged o &
@) wod w A R b e dmd
G) s Wt A o R & o b
@) oo wad ¥ Rrer b w ¥ waqd A b

Y - T

109 A particle is projected with a velocity 2./gh so that it jhst clears two

walls of equal height ', which are at a distance 2% from each other. Thén
the time of passing between the walls is : '

m 2y @
® 2 e

T BN 2Jgh I X VER B oww ¥ e aw e swd o

A E A e e ¥ A A A e o o
oW AN A A Ry W W e © |

m 24 @ ¥

® 2% @ &
#mpiResuite

RRRRRRRRRRRRRRRRRR
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3 7 110 A particle is projected with the velocity 'u' at an angle of projection "¢
b then the highest height attained is -

a usino ® uzsinzoc
g 2g
2 2sin2

3) #* sin 20t @ u*“ sin 2¢;
& 2g

- . 2
using ‘ u“ sin“ o
¢y, )
g g
. : 2.
u°sin 20 _ u° sin 2¢
3 .
® @ —

11 The set {1,3,2},{1,-7,-8) and {21-1} of vectors in g3 i -
(1) linearly dependent
(2) linearly independent
(3) linearly dependent and linearly independent
(4) None of these

wiesr & agem {1.3.2},{1,-7,-8} @i {211}, ”R3 ¥ ¢ .

e I

() faw anfdm |
@) Rew @aw
@) Maw afm 7 Wes @y |
(4) T ¥ % T
12 Let 4 be an nxn, 51 matrix and rank (4)<n-1, then rank (adj 4)
1S !
 n 2 n-1
() <n-1 @ o
T AT pxp, ES ﬂﬁﬁﬁw%ﬁmzfi @ Wife <n-1 4 adj A
@ o ¥ o
1) n @ n-1
B <n-1 @ o
CB32 A] 3 [ Contd...
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113 If'L'is Laplace transform Operator and 's' is parameter then 7, {cosh at )

[#4
1 S
W 272 ® 5
@ 5 s
s? +a? @ 52 + g2

) 5

(1) s2_ 2 @ 773
3 o

©) s% +a? @ 3 2

114 If J,, (x) represents the Bessel function, then the true relation is -

W 2y (1) =, ()4 x4 (5)
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A symmetric tensor of the second order has at most different components
ina Vy is :
N{N+1 N{N-1
o MG @ M
(N +1) (N +2) (N-1){N-2)
®) ; @ :

VNﬁﬁfﬂam%wﬁaw&ﬂﬁa{ﬁwﬁeﬂmﬁmﬁwm%z

@ N(}:+1) @ N(ﬁ;—l)
3 (N+1)2(N+2) @ (N—I)Z(N—z)

For a curve its curvature and torsion are in constant ratio, then the
curve is

(1) osculating sphere (2) osculating circle

(3) circular helix (4) cylindrical helix

a Tl a @ ww qwr A (o) s ogwE W@, ot aw ¥ -
(1) omywdr T (2) ol Tw

(3) TAER G @) e gefel

If %' is the difference of interval, then (A-V)x2 =
o #? @) 242
G) 342 | @ 6h?

R % O W e &, ar (A-V)x2 =

o 2 | @ 2n
G) 34 @) 6h?
CB32 A] £ [ Contd...
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In difference table the first term of the series whose second and subs eq
terms are 8,3,0,-10 is - N

,
s
*

(i s @ 10
@) 15 4 20

19 If the primal problem ig unsymmetric then its dual problem will have
its variables
(1) unrestricted in sigh
(2) strictly greater than zero
@ 20
4 =0 or <yg accordmg to the situation
AR o st 3, TR T F ow oA
() = ¥ swfwfe
@ ¥ wEE afm
3 =20
@) =0 W Rafy egEr <o
126 Which one of the follomng changes the nature of contraints in the
given LPP ?
(1) Artificial variable (2)  Surplus variable
(3) Slack variabie (4) None of these
ﬁﬂémmmﬁﬁwﬁwﬁﬁw#mw%?
1) oBm w () ofERs T
G) TRRE = @ ™ ¥ 9 &
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_ ';921 From the last 3¢ years, the emphasis for Technology in schools has involved

in which of the foliowing order/sequence ?

¢)) integration, applications, programming, computer assisted instruction
2) Programming, computer assited instruction, application, .integration
3) application, programming, integration, computer assisted instruction

(4)  computer assisted Instruction, programming, integration, application

122 A mathematics teacher uses computer to evaluate and diagnose her/his
stude

(1)  computer assisted instruction (CAD)
(2)  computer managed instruction (CMI)
(3)  computer assisted learning (CAL)

@) computer based instmction (CBI)

() e wsmar-ug HFIE (CAI)
@ PRy agde (oM
G) ¥R FErmI-Tg R (CAL)
() T Ry sy (CBI)
CB32-A] (2 IRESULTE [ Contd...
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According to Piaget, cognitive development in human beings take i,
through four important stages. The correct order of these stages is v
(1) Pre-operational, formal operational, concrete operational, senso,
motor operational.
(2)  Sensory motor operational, pre-operational, formal operational, concrete”
operational.
(3) Formal operational, pre-operational, concrete operational, sensory
motor operational. )
(4) Sensory motor operational, pre-operational, concrete operational,
formal operational.
N % SIER Al ¥ WeEew R 9 weeyd e § dm b
T AN & WEH BH B GE S
(1) qefraeema, shwafie dfsarma, ahyfe dhmamerm,
(2) dadt WP ieaeew, qdutrrema, sivale dheame,
dagls dimarEmar
(@) olivafe diemesm, QHefeaema, adghs e,
@) & At Wi, difearema, ahats @l
it sl ‘
Match the List-I with the List-Il and select the correct answer using the
code given below -
List - I | List - I
A.  Carl Roger I Field theory
B. Kurt Lewin . Social learning theory
C. Bandura I Self efficacy theory
D.  Bruner IV.  Psycho-analytic theory
V. Cognitive theory
A B C D
(1) II v | \'
() I I A I
3 I Bil v \'
4 M 1 1 A% :
-1 & g1 & gafve iR gar RF o g ¥ ¥ @ s @
a1 PR :
-1 Y11
A W AT I w8 R
B. @& afm I  wmfwe siftrm fagr
C. = o w-gme e
D. §x IV, #-fasanones R
V. e R
A B C D
() m 1\ II \'
(2 I I v I
G) 1 I v \%
4) W I Ir v
2 A] [ Contd...
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Which of the following is an incorrect pair ?

Multiple theory of intelligence - Guilford
Theory of classical conditioning - Pavlov
Psycho-social theory - Erikson

Theory of meaningful verbal learning - Aasubel

Pttty & 4 wm-w gWm wW A ¥ 2

segfe T - PR

Ffad sgean Rg - waeE
wHame g - oiEwes
sefqel ifas sfrm — omgAw

The learning theorists under behaviourist category are based on the
believe that

Child is a natural learner
Environment can change a man

All types of behaviour can be learnt
Everybody can learn everything

FEERERE T enuid e Regraard 3@ T @ owed ¥ 6 -

SIS Wae sl ©

() amET AR W FE awdl E

af TER F =aer 9@ W uEar ¥

(@) was «aftm 91 B V@ Foal §

127 Which of the following will be most appropriate to maximise learning in
mathematics ? '

M)
@
€}
4)

Teacher should identify his cognitive style as well as of his students
cognitive style '

Individual differences in students should be smoothened by pairing
similar students.

Teacher should focus on only one learning style to bring otpimum
result.

Students of similar cultural background should be kept in the same’
class to avoid difference in opinion.

Prfifeg § @ @-w T ofrm @ afuean HW & fWo wde
Ifag ¥ 7

(1)
@
®
(4)

CB32 A]

ferd @t oul demeE S % -y Rl @ e
dell N weEE HTH AWRA |

Rt & dafs Rifrrmel o gew W & fog aae Rkt
F SR T AR |
aﬁhﬂﬁﬂﬂ?@ﬂﬁﬁﬁ%hﬁl%ﬂ%ﬁﬁﬁ@mﬁﬁﬁﬂmﬁ
Fhea mom T |
wawmw{ﬁaﬁﬁaﬁﬁﬁwﬁmﬁmﬂﬁ&m
g W W owdl W 9 |
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128 Understanding human growth and development enables a teachex

)
@
©)
@

gain control of learner's emotions while teaching.
clear about teaching diverse learners.
tell students how they can improve their lives,

practice her teaching in an unbiased way.

e g ud e W ww Bew s ﬂstﬁmamfﬁ%i

4y
2
()

@

ﬁm%wﬂmﬁ%%ﬁﬁwﬁmmw&
SRR o T S e —

Rl @t o8 st 5 3 ot shew ¥ B guw w e ¥
a e ¥ Prow e & e s w

129 A teacher should -

M

@ .

()
“

treat errors committed by students as blunders and take serious note
of each error.

measure success as the number of times students avoid making
mistakes. . _ \

not to correct students when they are trying to communicate ideas.

focus more on lecturing and provide a foundation for knowledge.

w e @

)
@)
€)

(4)

CB32 A]

fﬁmﬁiﬁmﬁﬁgﬁu‘rﬁwww@%mﬁﬁmaﬁ&
TAE I F Rrg ik fouo  ama

ﬁmﬁfﬁwﬁmﬂmﬁmﬁﬁaﬂm%sﬂm%w%ﬁm
¥ w oafed

"aaﬁrmaﬁﬁﬁrﬁﬁwmmﬂaﬁﬁmmﬁﬁﬁa%m

o e AR |
memﬁéﬂaﬁ&aﬁaﬁ%mwmm
qisy |
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50 Which of the following won 2 nobel prize for his pioneering work on
learning theories ?

(1) R. M. Gayne (2) J. S. Bruner

) (3) Lev Vygotsky : (4) Ivan Pavlov
i & e o et v st e 3 R e e
fe wn ?

(1) &R T T @) *. @ FTW

(3) A T @ T T

]

131 Development of language :n students according to B. F. Skinner is the |

et

- result of - !
(1) Training in grammar () Imitation and reinforcement ‘
3 (3) Tnnate abilities (4) Maturation
a.@.wﬁw'%mﬂﬁaﬁfﬁwﬁwmﬁﬁﬁiﬁﬁWW%—
(1) =T " Pl 2) SIHW T NRELRS
® s e @ e

!

132 Who among the following is not a cognitive Gestalt Psychologist ?

(1) Tolman (2) Kurt Levin
(3) Kolber (4) Wertheimer
P § A B WD ATy e W T
O T | @ wt AR
(@) WE @) AT

133 Which of the following steps of learning process 1s out of order (place)?

(1) motivation (2) obstacle

(3) response (4) goal

ot st % P wok X @ st ¥ 7
(1) s (2) e

4) w™

. J.‘
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134 Which of the following g ot a principle of development 7

(1) principle of continuity
2) principle of individya] difference
(3) principle of proceeding from specific to general responge
4 principle of integration
ﬁwff@ﬁa—mﬁmmfﬁ@ﬁﬂé’f% 4
() Preaer o fagrg

135 Bruner identified three major stages of cognitive growth Identify the correct

order from the following

€3] symbolic, iconic, enactive
(2)  iconic, symbolic, enactive
3) enactive, iconic, symbolic
(4) Symbolic, enactive, iconje

136 When 3 Pupil acquires positive attitnde towards Mathematics thep, -
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One can appreciate the 'beau'til of the mathematics by -
(1) reading the literature of mathematics.

(2) looking at the portraits of great mathematicians.
(3) listening to lectures on mathematics.

(4) solving mathematical puzzels and riddles.

Fz I T & ded o gsim T gHar @
(1) TR @ St TeET

(2) W Tt & feE @ SEeT

(3) "iTe WX WOl gAe]

(4 T B wfmal 9o e gews

138 The mathematical knowledge which has lead to the basis of computer
isfare :
(1) Binary system of numeration
(2) Graphs
(3) Simultaneous equations
(4) Set theory

9% i §M W dEX % fog e ¥ -
(1) Gemel @ frenudl =i (FRTd wEl)
2 T%

() JTAG THHI

@) ug=a R

139 In order to get the knowledge about the conceptual errors made by the
students in mathematics the best way is to -

(1) give them a unit test.
(2) give them a diagnostic test.

(3) make them verbalise their thinking in classrooms by asking probing
questions.

(4) give them achievement test

R ¥ Rl g B ™ sweaes gl @ A w0 B 96l

BT AU & — |

(1) < IBE qqew R |

(2) ¢ Prrem e R s o)

(3)  wen ¥ U Preaniid @) wita &Rl 0@ IRew. v B o Rred
= "ET 03 |

@) o Fefa odeer @ s
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appropriate steps of deductive method in mathematics teaching js -

verification - 8eneralization - observation - €xample
@ 8eneralization - verification - example - observation
.(3) €xample - obsewaﬁon - 8eneralization - verification

' "(4) observation - exam'p:vle' - generalization - verification a
wm%m_ﬁ&&am%.h
ORI 1L SR N e Frlemr — sy
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There are several form of ‘constructivism', The theory that all knowledge
is individually constructed and is equally valid is -

(1) psychological constructivism '

(2) social constructivism

(3) radical constructivism

(4) sociological constructivism ,

Tk & o W ¥ | e <t g% s@n ¥ 5 o sl ww
4 Pt o ¥ aw v o ww @ dqw -

(1) wEdete Fifaae

2 wmfsie Fifqar

() Bdg frifgar

@ wssTEn Mifaar

Readiness for learning refers to - ' _ j
(1) general ability level of students.

(2) present cognitive level of students in the learning continuum.
(3) satisfying nature of the act of learning,

(4) Throndike's law of readiness. -
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(1)  telling mathematics students to take internal feedback.

(2) generating a safe environment for mathematics students to take
changes. !

(3) tell mathematics students to reflect on the topic taught. '

(4) testing mathematics student as frequently as possible.
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All of the following promote assessment as learning of mathematics except- ' [
|
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(1) Clear organization of Content for teacher presentation.

(2) Chailenging learning environments and authentic tasks.

(3) Student centered instruction,

(4) Social negotiation and shared responsibility.
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146 Which of the following statement is ot true about teaching ?
(1) teaching is modifiable,
(2) teaching is formal and informal
(3) teaching is Science as well as an art,
(4) teaching is instruction,
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147 A process in which an individual leahs new responses by observing the
behaviour of another rather than through direct experience is known as-

(1) social learning 2 conditioning learning
(3)  experimental learning (4) incidental learning -
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.148 Which of the follo
)] Each

wing statemens IS not Correct aboy; developmen;

phase of development has jtg hazards.

Which Software coyjq give Students Opbportunities ¢, memorize formulae
in Mmathematics 9 :

(1)  Drij and practice )] Problem solving

3) Tutoriaj
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150 Which of the followin

g is a fa(_:tor that inﬂuences Success f;

or the gified
Mmathematicg Student 7 '

) @ eyl of adjustmen
- (3) Persistence
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